
350 SX-F 2022 <2022><EU><F8201V5>
IGNITION SYSTEM

56450

Pos Part Number Description Additional Text Quantity

1 79239005044 ROTOR EFI CPL. 1.00

2 77339010100 FLYWHEEL SCREW 1.00

3 79230040000 IGNITION COVER GASKET 1.00

4 0012050253S Bolt DIN 6912 - M5x25 SS 3.00

5 79239004100 Stator 1.00

6 0025050166 HH collar screw M5x16 TX30 2.00

7 79230002050 CABLE HOLDER PLATE 1.00

8 0026060186 COLLAR SCREW M6X18 ISA30 2.00

10 7923000210015 Ignition cover 1.00

11 0913050063S THREAD PIN DIN 913 M5X6 1.00

12 0402040980 Needle roll.DIN5402 NRB 4X9.8 2.00

16 07700240251 o-ring 24.00x2.50 Viton 1.00

17 7723000216030 SCREW PLUG M24X1,5 1.00

18 79139090000 Resistor Plug Cover 1.00

19 77239093000 PLUG NGK LMAR9AI - 8 1.00

21 0025060306 HH collar screw M6x30 TX30 8.00



22 58439006000 Ignition coil 1.00


